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(d) | Money cost,

Question 45 = T

(d) | Interest on loans.

Question 46
(¢) | Rs. 50.
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i (©) | (A)- (i), (B)-(), (C)-(D)
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] (b) l MC is unaffected by fixed cost. I
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Q1 to OO

(a) | E2

Question 31 |

(a)

MP=TPy— TPus T - N |

Question 32

(a)

Short run production function.

Question 33

(b)

Stage 11

Question 34

(c)

AP is falling,

Question 35

()

(b) | falls

(1)

(a) | Units of variable inputs are added to a fixed factor and AP and MP fall. |

Question 36

(b)

Increasing at diminishing rate.

Question 37

(b)

Overcrowding and management problems.

Question 38

(b)

inverse U

Question 39 l|_

(d)

50

Question 40

()

TP is increasing, AP declines, MP is declining to become zero. I_
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Question 41 |

(c)

All inputs are variable. o SeRT

| Question 42

[@

(d) | When MC > AC, AC rises.







Decreasing.

tion 14

(¢) | Substitution effect

Question 15

ombination of two goods.

(b) | Equal utility from the consumption of ¢

Question 16

(b) | Inferior good.
[

Question 17

(b) | Fall in price of substitute goods.

Question 18
(1)

(a) | zero.
(i1)

(¢) | negative

(1)

(a) | decreases but is positive.

Question 19
(1)
(a) | The demand for oxygen increased and supply for oxygen remained the
same.
(i)
(d) | Rightward shift of demand curve.
(iii)

(b) | The above is a case of hoarding.




